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Quiz Answers

The human body is 66% or two-thirds water.

For one orange, 52 litres of water are needed.

Approx. 79 million (79,493,647) litres spill each day from the Trevi fountain

For the average person’s daily diet, between 2000 and 5000 litres of water

are used (see examples below of water usage)

Since the year 1900, over 11 million people have died as a result of droughts,

and 2 billion people have been affected

Eritrea is the most difficult place in the world to access clean water

Examp
tea :
coffee :
pasta :
chicken
apples :
butter :

les of water usage in food production
107 litres = 1 litre brewed tea
1,051 litres = 1 litre brewed coffee
1,849 litres = 1 kg pasta

: 4,325 litres = 1 kg chicken
822 litres = 1 kg apples

5,553 litres = 1 kg butter




